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Example

Determine whether each equatmn is l1near and write the equation in standard form
if it i8 linear.

a) 3%+ 7 = 10 N@ Sfé«tlﬂdé(j
b) 5x.+3 xy+2 No
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Find the x and y intercepts of the segments graphed bolew

" by
w"’?
—

e et e e e T
. - i

- : . ¥

B - PR N £

o

Examples

A box of peanuts is poured into bags at a rate of 4 ounces
per second. The table shows the function relating the
weight of peanuts in the box and the time in seconds the
peanuts have been pouring out of the box. What are the x
and y-intercepts? What does this mean in terms of the

situation?
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ANAL‘{ZE TAILE% Jules has a gas card
for a local gas station. The table shows the |
function relating the amount of money on
the card and the number of times he has

stopped to purchase gas.
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What are the x and y- 1ntercepts‘? What does this mean in terms of the situation?
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Graph the following eqnmmns using x (md y- i ercepts. -
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Recall how to solve:
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Solve each equation graphm;lly and conﬁrm algebralcally
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Example
Kendra’s class is selling greeting cards to raise money for new soccer equipment.

;Fhey paid $115 for the cards, and they are selling each card for $1.75. The function

i?‘“ = 1.75x — 115 represents their profit y for selling x greeting cards. Find the Zero
of thIS functmn Descrlbe what this value means in this context. faay
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3,3 Rate of Change and Slope SR

The Daredevil Drop at Wet ‘n Wild E memld Pomte in Gleensbozo North Carolina.-
is a thrilling ride that drops you 76 feet down a steep water chute. The rate of
change of the ride might describe the distance a rider has fallen over a length of
time. ‘
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Use the table to find the rate of change Then explain its meaning. ol
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The graph below shows the number of US passports issued in 2002, 2004, and

2006.
a) Find the rate of change for 2002- 2004 an

2004-2006. f s
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b) Explain the meamng of th-e‘rat
each case.
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Find the slope of the line that passes through each pair of pomts
2) (3,2)and (5,5)
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d) (6, 3) and (6, 7)
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Find the value of r so that the line through (6, 3) and (r, 2) has a slope of 2
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© 3.4 Direct Variation
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Name the constant of variation for each equation. Then find the slope of the line
that passes through each pair of points. .\_
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a) Write a direct \Qnatlon equatlon thayfelates x and y.
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b) Use the direct variation equation to find x wheny =15 |
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bupposa y varies dlmctly as x and y = 6 when x = 10

a) erte a direct variation equation that relates x a,nd y.
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b) Use the direct variation equation to find x when y = 15.
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The Ram1rez family is drlvmg cross-country 01‘1 vacatlon They drive 330 miles in
3.5 hours UJ Ky .

a) erte a direct variation equation to find the distance d driven in time t.
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b) Graph the e”tgiuatlon
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(.,omplete the table for the followmg linear functions: What do you hotice? -

y ,%x + QO y=-3x +Q
L [-3y 1\9
3 [=ql”
) -5
4 =13 .
. X
e Seqt?ence;; 3 5 7 ‘i - | ﬂ -
R m,}f f ;,f m.m)s . &;li:cfﬁ@?f(mf e :- Z. 5 o
| .?nd fer\ml | 4ih fr%rnn o 5 ..,.'l

e Arithmetic Sequence — -

Formed u& ‘Ef@"”%f
A (LIMﬁf \

Example .'

Determlne th:ther each: sequence is an arithmetic sequence and justify your
thmkmg 1 47 R
%L }.\

2) ~15 —13, T9 \’f’g kdd 2

SR

5 5 ]
93 No
) 26022,—18;«14, \{.65 ( A dd L‘

d1,4925 ... N
+3 8"



¥.zmm.1gq . e
Find the next three terms of the arithmetic sequences and find an equation for the

equeme
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Write an equation for the nth term of the ar 1thmet1c: scqubnce 1 10 19 ?8 3 T

Y= Ay - 8

F md the 12" term of the sequence
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The arithmetic sequence 12 23, 34, 45, ... represents-the-total-number in-ounces
that a bag weights after each addl‘uonal new_spaper is added.

- a) Write a function to represent this sequence.
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3. 6Lmear Relationships - e el d ,*,f; )

Recall you can wrzte equations for arithmetic sequences such as ‘S, 8, 11 14, ...
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Write an equation in function notation for the given graphs. %}:’;ﬁ"a,‘fi
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Examples - No Calculator

If the sequence is linear write the equation to describe this relationship.
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Find the valu€ of y in the above equations when x

RIS

™
e

Example

o

300yt bo

o

o ha =

't
')&gé?

V4 2

. L mere e e ““‘"wfl

N

2 12 4 -

3 ]-6 g . f:,ﬂ”-?
Pt / | i g \;
! ‘_J.i‘ !;" % i g ::)),Xg {

The table shows the number of miles driven for each hour of driving.

Hours

1

2

3

4

Miles
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Write an e'quation to describe this relationship.
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Use this equation to predict the number of miles driven in 8 hours.
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